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DFA Formal Definition

DFAs consist of:
1. Finite set of states, 𝑄.
2. Finite alphabet, Σ.
3. Transition function, 𝛿: 𝑄×Σ → 𝑄.
4. Start state, 𝑞! ∈ 𝑄.
5. Set of accept states, 𝐹 ⊆ 𝑄.
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DFA Practice
Prove that the following languages are regular:
1. Set of all strings over {0,1}.

2. Set of all strings with an even number of 0s.

3. Set of all strings that contain 
the substring: 10.
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Prove that the following language is regular: 
  {𝜔:𝜔 begins with sequence 10}.
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Prove that the following language is regular: 
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Prove that the following language is regular: 
  {𝜔:𝜔 ends with sequence 10}.
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If you had to name this state, 
what would you name it?
“We just processed a 1 state”
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Prove that the following language is regular: 
  {𝜔:𝜔 consists of some number of 0s followed by the same 
  number of 1s}.  E.g. 000111

Proof:
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